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THIRD SEMESTER (SCHEME-2006)
MODERN OFFICE MANAGEMENT
COST ACCOUNT

Time : Three Hours Maximum Marks : 70

Note : (1) Attempt all questions.

4T 95l F TR A0l

(11) All questions carry equal marks.
A4l 0971 F AF THE 2

(111)In case of any doubt or dispute, the English
version question should be treated as final.
FFAT T TR % AeE dHa R F1 R |
FET 9 F U FATAH G AR

Unit - 1
T - |
. Whatis cost accounting? Explain its objectives and
advantages. 14
“ANA TAEA FOH 99 27 THE 2T W AN F
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(2)

What are the characteristics of an ideal cost
accounting system? Discuss. 14

UF qRY ANE WA Tl H pguad @ 37
Te=AT FiTAu)

Unit - I

1 - 11

What do you understand by elements of cost? Give
the main classes of cost, 14

AN % A A A N F9Id 27 AR & g a9 6l
BRI
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Or/3ga
Define and give example of: 14
1) Prime cost
1) Administrative Expenses
1) Direct expenses
iv) Selling expenses
TRYITYA AU 7 ITE0 FiAe:
) 9 @
i) UIHHE A
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(3)

Unit - 111

THE - 11

(4)

Az M. 3 4.15,000 5. § 0F ZH f=21 794 9
74 T5:

3. Write notes on: 14 = A 1,00,000 %, 34 261 4 Z5E0A A
a) Work certified 60,000 5. A F4 F1 55,000 F. FAFA 2.00.000 .
b) Work uncertified @M FH AFE 50,000 F.1 TH UF 99 F A7 Z T A
c) Escalation clause T T T 3 TN A e H 5.000%. 4 dn
d) Issue of plant to the contract Az 2§ 37,500 5. G A1l T AR FE
T TESHTIL i Unit - IV
A) T FE THE - IV
9) IO H Explain normal wastage, abnormal wastage and
q) Fe dEE abnormal effectiveness. How should these bz dealt
3) 2 H WE F REA in process cost accounts? 14

Or/3efa AW 44, A 2 T M 399 F FEEEU)
i IE A 7@ 0 TR 7@ 6 TER TR AE 27
Aaditya Ltd. undertook a contract for Rs. 4,15,000. HIshA I ol H g
It incurred the following expenses: Materials from Or/34d1
stores Rs. 1,00,000; Matcri_als transferred frm_n-other A product passes through three processes of
Ce:{ntract Rs,?é(l,OUO;Matenals purchased Rs. 55,000: production. The output of preceding process is
Wages Rs. 2,00,000; Cos_t qulant Rs. 50,000. The transferred to the next process. 14
contract was completed within one year. The contract for th is 50 ton and the
price was received. Materials in hand was Rs. 5,000 Th:e output ) or the mon 1ds ‘
and plant in hand worth Rs. 37,500. Prepare following expenses were incurred:
contract A/c. 14
s3-v 553
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(S)

Process Process Process

A B C

Rs. Rs. Rs.
Material 5,000 1,000 500
Wages 2.500 4,000 3,500
Direct Expenses 1.500 500 1,000

Total indirect expenses during the month of
June 2013 were Rs. 1,000. Prepare process accounts.

U TR a1 Al ¥ 2 I 31 e afEa w

TR AT U § AT #OE AE 2 ONE |

50 T | TAEA B T AR T =a R o
UEN 4 U@ d R m

AT 5,000 1,000 500
EEECG 2,500 4,000  3.500
T4 77 1,500 500 1,000

A R 2013 ® Fd wWas @4 1,000 % g0 95D
A T
Unit -V

g - v

5. Discuss the causes of difference between costing
profits and financial profits. 14
i W e e e § Y2 F e # e
m”‘_ |
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(6)

Or/3a4gdn

On the basis of the following information find out

profit as per financial account: 14
E e F AR W R @@ F agen |y S e

P

et
]

1) Profit as per cost accounts 37,500 Rs.
AN W@l F TR WY
1)  Over-recovery of factory overheads in cost A/c.
3,500 Rs.
FEME] JUREE @ W6 § AuE T
1i1) Under-recovery of office overheads in cost A/c.
2,500 Rs.
FAE U A @E 8w Tge B T
1v) Reserve for bad debts 250 Rs.
AMA FO & U G
v) Profit received on investment 375 Rs.
AR T o Ay
vi) Bank interest / & & 225 Rs.
vii) Provision for income-tax 5,000 Rs.
AGF & o0 TELE
vii)Excess depreciation written in
financial books 1,250 Rs.
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